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Attempt All questions,

All questions carry equal marks.
Use of simple calculator is allowed.
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(@) ““Wealth maximisation is a better criterion than profit
maximisation.” Do you agree ? Explain. 4
(6) A company is considering which of two mutuaily
exclusive projects it should undertake. The finance
director thinks that the project with higher NPV shéuld
be chosen as both projects have the same initial outlay
and length of life. The company anticipates a cost of
capital of 10% and the net afier tax cash flows of the
project are as follows :
(Rs. "000)
Year 0 1. 2 3 4 S
Project X 210 40 20 0 75 25
Project Y 210 | =22 10 10 6 6




4

Compute :

() The NPV and Pl of each project.
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(i) State with reasons which project you would

recommend ?
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Explain briefly Profitability Index. How does it differ from
net present value method 7 4
Scorpio Ltd. has a machine with an additional life of
5 years which costs Rs. 12,00,000, has a book value
of Rs. 4,00,000. A new machine costing Rs. 20,00,000
is available. Though its capacity is the same as that
of the old machine, it will mean a saving in variable
costs to the extent of Rs. 8,00,000 per annum. The life
of the machine will be 5 years at the end of which

it will have a scrap value of Rs. 2,00,000. The rate of
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income tax is 40% and as a policy firm does not make
an invés;crnen( if the yield is less than 12% per annum.
The old machine if sold today will realise Rs. 1,00,000,
it will have no salvage value if sold at the end of
5 yearé. Advise Scorpio Ltd. whether or not tﬁe old _
machine should be replaced ? Capital gain on sale of
old machine is also subject to the same rate of tax
i'e. 40%. I
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*As there is no explicit cost of retained earnings, these
funds are free of cost.” Critically comsment. | 4
Assuming that the firm pays income tax at a 40% rate,
compute the a&er‘tax cost of capital in the following
cases :

N 15% preferencfe shares sold at par.

(i) A perpetual bond sold at par, coupon rate

being 15%.
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(:::':) A ten yéar 8% Rs. 1,000 per bond sold at
Rs. 950.

(i) An equity share selling at a market pri_ce of
Rs. 110 and paying a current dividend of Rs. 10
per share which is expected to grow at a rate

of 10%. ' 1}
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(a) Evaluate the accounting rate of return method of
assessing capital budgeting proposals. 4
()  The capital structure of Radhika Ltd. consists of Equity
share capital of Rs. 10,00,000 (The par value of one
equ.ity share is Rs. 100) and Rs. 10,00,000 of 10%
debentures. The unit sales increased by 20 percent from

1,00,000 units to 1,20,000 units, the selling price is
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Rs. 10 per unit, variable costs amount to Rs. 6
per unit and fixed expenses amount to Rs. 2,00,000. The
income tax rate is 35 percent.
(1} You are required to calculate :
() The percentage increase in EPS.
(#if) The degree of financial leverage at 1,00,000
and 1,20,000 units.
(if}) The degree of operatir?g leverage at 1,00,000
and 1,20,000 units,
(2) Comment on the behaviour of operating
and financial leverage in relation to increase
in prodilction from 1,00,000 to 1,20,000
un-its. 11
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(@) Discuss ABC system of inventory manage-

ment. . 4

(b)  The management of Akruti Ltd. is considering to change

its present credit policy. The details of the options are
given below :

Sales (in Rs. *000)

Credit Policy Present A B C

Sale 50 36 &0 (9]
VC (80% of sale) 40 48 |- 48 496
Fixed cost 6 6 6 6

Average collection

period ’ 30 - 45 60 75

Firm’s rate of investment is 20%. Assuming 360 days

in a year advise which of the options is best. 11
(%) Aot 999 Ft T yoeh w1 fade
Hifeg |
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Or
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Why is the consideration of time important in
finalncial decision making ? l-iow can time be
adjusted ? _ 4
Determine the market value of equity sha.res of the

company from the followihg information :

Eamnings of the company 1'0,00,000
Dividend paid 6,00,000
Number of shares outstanding 2,00,000
Price-earning ratio 8
Rate of return on investment : 15%

Are you satisfied with the current dividend policy of
the firm ? If not, what should be the optimal dividend
pay out ratic ? Also calculate the price at this ratio.

Apply Walter’s model. 11
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Explain the determining factors of dividend policy of
a company. 4

A company provides you the following facts. Estimate

the net working capital required for the project.

Estimated cost per unit of production :

Cost Element ‘ Amount (Rs.)
Raw material 80
Direct labour 30

Overheads (including depreciation
Rs. 10 per unit) g\

Total cost 180

" Additional information

()  Selling price : Rs. 200 per unit.
(if) Level of activity : 1,56,000 units of production per

annum.

PTO.
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(fify Raw materials in stock : average 4 weeks.

() Work-in-progress (assume 50 percent completion
stage in respect of conversion costs and 100
percent completion in respect of materials) :
average 2 weeks, . -

(v) Finished goods in stock : average 4 weeks.

{(vi) Credit allowed by suppliers : average 4 weeks.

(vir} Credit allowed to debtors : average 8 weeks.

(viii) Lag in payment of wages : average 1.5 weeks.

(&x) Cash at bank is expected to-be Rs. 25,000,

You may assume that production is carried on evenly

during the year. All sales are on credit basis.

Add 10% to your computed figure to allow for

contingencies, ' 11
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‘Explain the Baumol’s model of cash management. 4

Two companies are identical except that A Ltd. has a

debt of Rs. 10,00,000 at 10% whereas B Ltd. does not

- have debt in its capital structure. The total assets of
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both the companies A and B are same i.c. Rs. 20,00,000
on which each company earn; 20% return. Find the
value of each company and overall cost of capital using
net operating income (NOI). Approach Equity
capitalisation rate for B Ltd. is 15%. The tax rate
is 50%. ‘ 1
IS yau B AW ded ® e FHRw
3 wafrl T § foom go e v fafie
T 10% W T 10,00,000 FT HS §, TeE
fafe =1 It o A B wd W b o
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(@) Enum_erate the main assumptions of the traditional
approach of capital structure. 3
{6) The two companies, V and L, belong to an equivalent
risk class. These two firms are identical in every respect
except that V company is unlevered while Co. L has
10% dcbenﬁres of Rs. 5,00,000. The other relevant data
regarding their valuation and capitalisation rates are as

fol]owé :

Particulars L v
(Rs.) (Rs.}
EBIT 1,00,000 1,00,000
Less : lInterest 50,000 —
Eamings available to
equity-holders 50,000 1,00,000
Equity capitalisation rate 0.16 0.125
Market value of equity 3.12,500 §,00,000
Market value of debt 500,000 —
-Total market value 8,12.500 8,00,000
~ Overall cost of capital 0.123 0.125
Debt equity ratio 1.6 —
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() An investor owns 1% equity shares of company
L. Show the arbitrage process and amount by
which he could reduce his outlay through the usec
of leverage.

(i) According to Modigliani and Miller, when will this
.arbitrage process come to an end ? 12
(F) oIt TRaM & WO S & ged sifemonsi

HOWOE  HiF
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Or
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What are the costs and benefits associated with a liberal

credit policy ? ) 4
~Data :

EPS = Rs. 10

P/E =10

K, = 10%

No. of outstanding shares = 20,000

‘Expected dividend per share = Rs. 5

" Expected income = 2,00,000

New investment = 4,00,000,

As per MM approach the payment of dividend does
not a.ffect the value of the firm. Use the above data
to prove the statement. - - t
TR R Aifd & Wy wwg o R fem-wy

& ?
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(@) g0 9l
EPS = T 10
PE =10
K, = 10%
IEd Il W OTEH = 20,000
W ¥R yeim @ = T s
YAy 3™ = 2,00,000 |
Tq fE9 = 4,00,000.
THUR. P & JER a9 & PaE HH
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A B v Iw <@ .
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